DISTRICT: Kaw TYPE CODE: 05-4 DATE ADVERTISED: Apr BID OPENED: May COMPLETION TIME: 120	, , , , , , , , , , , , , , , , , , ,			Jas W. Glover		ver Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0101 Clea	earing and Grubbing (Parking Lot)	85	SY	\$150.00	\$12,750.00	\$272.00	\$23,120.00	\$50.00	\$4,250.00
209.0100 Insta	stallation, Maintenance, Monitoring, and Removal of BMP	LS	LS	\$50,000.00	\$50,000.00	\$503,500.00	\$503,500.00	\$50,000.00	\$50,000.00
209.0200 Add	Idiitional Water Pollution, Dust, and Erosion Control	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
401.0410 PMA	MA Pavement, Mix No. IV PG 64E-22	10,415	TN	\$245.00	\$2,551,675.00	\$353.00	\$3,676,495.00	\$300.00	\$3,124,500.00
401.0411 PMA	MA Pavement, Mix No. IV PG 64E-22 (Parking Lot)	180	TN	\$310.00	\$55,800.00	\$682.00	\$122,760.00	\$300.00	\$54,000.00
409.1000 Pave	vement Smoothness Incentive	Allow	Allow	\$16,800.00	\$16,800.00	\$16,800.00	\$16,800.00	\$16,800.00	\$16,800.00
414.0110 Exca	cavation of Weakened Pavement Areas	1,560	CY	\$130.00	\$202,800.00	\$159.00	\$248,040.00	\$145.00	\$226,200.00
415.0110 Cold	old Planing of Existing Pavement	44,975	SY	\$9.50	\$427,262.50	\$12.40	\$557,690.00	\$10.00	\$449,750.00
415.0111 Cold	old Planing of Existing Pavement (Parking Lot)	1,490	SY	\$12.50	\$18,625.00	\$19.00	\$28,310.00	\$10.00	\$14,900.00
511.0100 Furr	rnished Drilled Shaft Drilling Equipment	LS	LS	\$30,000.00	\$30,000.00	\$34,600.00	\$34,600.00	\$0.00	\$0.00
511.0200 Drille	illed Shaft	64	LF	\$800.00	\$51,200.00	\$1,290.00	\$82,560.00	\$0.00	\$0.00
511.0300 Star	andard Excavation	64	LF	\$750.00	\$48,000.00	\$969.00	\$62,016.00	\$0.00	\$0.00
604.4010 Adju	ljusting Manhole Cast Iron Fram and Cover	1	EA	\$4,500.00	\$4,500.00	\$5,440.00	\$5,440.00	\$1,500.00	\$1,500.00
615.0100 16-li	-Inch Milled Rumble Strip, Centerline	2,200	LF	\$30.00	\$66,000.00	\$10.00	\$22,000.00	\$2.50	\$5,500.00
615.0110 12-I	-Inch Milled Rumble Strip, Edgeline	3,000	LF	\$20.00	\$60,000.00	\$10.00	\$30,000.00	\$2.50	\$7,500.00
								Sheet No. 1 of	

Sheet No. 1 of 8 Sheets

	Kuhio Highway Resurfacing Waikaea Bridge to Mailihuna Road NH-056-1(063)								
NET LENGTH:								STATE (OF HAWAII
ISLAND:				Jas W	. Glover	Grace Pa	cific LLC	DEPAR ⁻	TMENT OF
DISTRICT:								TRANSP	ORTATION
TYPE CODE:									YS DIVISION
								,	
DATE ADVERTISED:	May 11, 2023								
BID OF LINED.	Way 11, 2023								
COMPLETION TIME:	120 Working Days								
		APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	1,590	LF	\$3.00	\$4,770.00	\$7.50	\$11,925.00	\$3.25	\$5,167.50
	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (Parking Lot)	740	LF	\$3.00	\$2,220.00	\$9.00	\$6,660.00	\$3.25	\$2,405.00
	4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	160	LF	\$3.00	\$480.00	\$9.00	\$1,440.00	\$3.25	\$520.00
	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	905	LF	\$3.00	\$2,715.00	\$9.00	\$8,145.00	\$3.25	\$2,941.25
629.1006	4-Inch Pavement Striping (Thermoplastic Hot Spray)	510	LF	\$3.00	\$1,530.00	\$10.00	\$5,100.00	\$3.25	\$1,657.50
629.1008	4-Inch Pavement Striping (Profiled Thermoplastic)	465	EA	\$3.00	\$1,395.00	\$56.00	\$26,040.00	\$3.25	\$1,511.25
629.1010	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	3565	LF	\$4.00	\$14,260.00	\$10.00	\$35,650.00	\$3.25	\$11,586.25
629.1012	Double 4-Inch Pavement Striping (Tape, Type il or Thermoplastic Extrusion)	3710	LF	\$4.00	\$14,840.00	\$11.20	\$41,552.00	\$3.25	\$12,057.50
629.1016	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	885	LF	\$4.00	\$3,540.00	\$11.20	\$9,912.00	\$3.25	\$2,876.25
	6-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	11865	LF	\$4.00	\$47,460.00	\$7.50	\$88,987.50	\$4.75	\$56,358.75
	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	550	LF	\$4.00	\$2,200.00	\$11.20	\$6,160.00	\$4.75	\$2,612.50
	<u>I</u>	1	I					Sheet No. 2 of	

Sheet No. 2 of 8 Sheets

PROJECT:	Kuhio Highway Resurfacing Waikaea Bridge to Mailihuna Road								
PROJECT NO.:	NH-056-1(063)	1							
NET LENGTH:				Jac W. Olaver		STATE OF HAWAII			
ISLAND:				Jas W	. Glover	Grace Pacific LLC		DEPARTMENT OF	
DISTRICT:								1	ORTATION
TYPE CODE:	05-4R							HIGHWA	YS DIVISION
DATE ADVERTISED:	•								
BID OPENED:	May 11, 2023								
COMPLETION TIME:	120 Working Days								
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1032	8-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	2535	LF	\$4.00	\$10,140.00	\$11.20	\$28,392.00	\$4.75	\$12,041.25
629.1052	12-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	1880	LF	\$6.00	\$11,280.00	\$16.20	\$30,456.00	\$7.60	\$14,288.00
629.1054	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	640	LF	\$6.00	\$3,840.00	\$18.70	\$11,968.00	\$7.60	\$4,864.00
629.1060	24-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	30	LF	\$13.00	\$390.00	\$56.00	\$1,680.00	\$10.00	\$300.00
629.1100	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	66	EA	\$760.00	\$50,160.00	\$684.00	\$45,144.00	\$1,200.00	\$79,200.00
629.1110	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion)	42	EA	\$300.00	\$12,600.00	\$560.00	\$23,520.00	\$400.00	\$16,800.00
629.1111	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion) (Parking Lot)	4	EA	\$300.00	\$1,200.00	\$684.00	\$2,736.00	\$400.00	\$1,600.00
629.1130	Yield Line (Tape, Type III or Thermoplastic Extrusion)	2	LN	\$155.00	\$310.00	\$622.00	\$1,244.00	\$300.00	\$600.00
629.1140	Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	49	LN	\$400.00	\$19,600.00	\$809.00	\$39,641.00	\$565.00	\$27,685.00
629.1142	Raised Crosswalk Marking (Tape, Type III or Thermoplastic Extrusion)	4	EA	\$1,600.00	\$6,400.00	\$1,370.00	\$5,480.00	\$700.00	\$2,800.00
629.2020	Type C Pavement Marker	760	EA	\$5.75	\$4,370.00	\$14.90	\$11,324.00	\$9.00	\$6,840.00
629.2030	Type D Pavement Marker	1000	EA	\$5.75	\$5,750.00	\$14.90	\$14,900.00	\$9.00	\$9,000.00
629.2040	Type F Pavement Marker	20	EA	\$7.50	\$150.00	\$14.90	\$298.00	\$9.00	\$180.00
		ı						Sheet No. 3 of	0.05.5.45

Sheet No. 3 of 8 Sheets

PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	Kawaihau 05-4R April 6, 2023 May 11, 2023		Jas W. Glover		Jas W. Glover Grace Pacific LLC D		Grace Pacific LLC		OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	120 Working Days ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.2050	Type H Pavement Marker	740	EA	\$8.10					
629.4000	ADA-Warning System Pavement Marker	9	EA	\$260.00	·				
						·	·		
630.1100	Panel for Destination Sign (Flat Panel)	140	SF	\$140.00	,				
630.1200	Type A Route Marker Assembly	4	EA	\$700.00	\$2,800.00	\$840.00	\$3,360.00	\$875.00	\$3,500.00
630.1210	Type B Route Marker Assembly	1	EA	\$1,400.00	\$1,400.00	\$1,680.00	\$1,680.00	\$1,400.00	\$1,400.00
630.1300	Street Name Sign	12	EA	\$330.00	\$3,960.00	\$404.00	\$4,848.00	\$315.00	\$3,780.00
630.1310	Street Name Sign on Traffic Signal Mast Arm	2	EA	\$3,700.00	\$7,400.00	\$4,480.00	\$8,960.00	\$2,350.00	\$4,700.00
630.1320	Street Name Sign on Traffic Signal Post	2	EA	\$550.00	\$1,100.00	\$678.00	\$1,356.00	\$300.00	\$600.00
630.1610	4.00 lbs/ft. Flanged Channel Post for Destination Sign	7	EA	\$655.00	\$4,585.00	\$809.00	\$5,663.00	\$500.00	\$3,500.00
631.0100	Regulatory Sign (10 Square Feet or Less) with Post	65	EA	\$655.00	\$42,575.00	\$809.00	\$52,585.00	\$600.00	\$39,000.00
631.0101	Regulatory Sign (10 Square Feet or Less) with Post (Parking Lot)	3	EA	\$655.00	\$1,965.00	\$809.00	\$2,427.00	\$600.00	\$1,800.00
631.0110	Regulatory Sign (10 Square Feet or Less) without Post	9	EA	\$260.00	\$2,340.00	\$311.00	\$2,799.00	\$300.00	\$2,700.00
631.0120	Regulatory Sign (More than 10 Square Feet) with Posts	6	EA	\$1,250.00	\$7,500.00	\$1,490.00	\$8,940.00	\$1,150.00	\$6,900.00
631.0200	Warning Sign (10 Square Feet or Less) with Post	18	EA	\$730.00	\$13,140.00	\$902.00	\$16,236.00	\$750.00	\$13,500.00
631.0201	LED-Enhanced Warning Sign (10 Square Feet or Less) with Post	1	EA	\$10,000.00	\$10,000.00	\$12,300.00	\$12,300.00	\$2,000.00	\$2,000.00
		ı	I .					L Sheet No. 4 of	O Chaota

Sheet No. 4 of 8 Sheets

PROJECT:	Kuhio Highway Resurfacing Waikaea Bridge to Mailihuna Road								
PROJECT NO.:	NH-056-1(063)	1							
NET LENGTH: ISLAND:				Jas W. Glover		Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF	
DISTRICT:				Gae W. Giovei		Orace ra	cinc EEC	TRANSPORTATION	
TYPE CODE:	05-4R							HIGHWA	YS DIVISION
DATE ADVERTISED:	April 6, 2023								
	May 11, 2023								
COMPLETION TIME:	120 Working Days								
		APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
631.0220	Warning Sign (More than 10 Square Feet) with Posts	1	EA	\$1,250.00	\$1,250.00	\$1,490.00	\$1,490.00	\$1,150.00	\$1,150.00
631.0300	Miscellaneous Sign with Post	2	EA	\$700.00	\$1,400.00	\$809.00	\$1,618.00	\$600.00	\$1,200.00
631.0301	Miscellaneous Sign with Post (Parking Lot)	1	EA	\$700.00	\$700.00	\$809.00	\$809.00	\$600.00	\$600.00
631.0310	Miscellaneous Sign without Post	1	EA	\$300.00	\$300.00	\$342.00	\$342.00	\$300.00	\$300.00
631.0400	Supplemental Plaque	40	EA	\$300.00	\$12,000.00	\$342.00	\$13,680.00	\$275.00	\$11,000.00
631.0401	Supplemental Plaque (Parking Lot)	2	EA	\$300.00	\$600.00	\$342.00	\$684.00	\$275.00	\$550.00
631.0500	RRFB Assembly	10	EA	\$16,500.00	\$165,000.00	\$19,900.00	\$199,000.00	\$15,000.00	\$150,000.00
631.0510	RRFB with Overhead Light Assembly	8	EA	\$33,000.00	\$264,000.00	\$39,800.00	\$318,400.00	\$20,000.00	\$160,000.00
632.0120	Reflector Marker (RM-3) with Steel Post	16	EA	\$300.00	\$4,800.00	\$336.00	\$5,376.00	\$300.00	\$4,800.00
632.0122	Reflector Marker (RM-3) with Flexible Post	9	EA	\$215.00	\$1,935.00	\$261.00	\$2,349.00	\$230.00	\$2,070.00
632.0130	Reflector Marker (RM-5)	70	EA	\$71.00	\$4,970.00	\$87.10	\$6,097.00	\$100.00	\$7,000.00
632.0500	Milepost Marker with Post (Bi-Directional)	4	EA	\$705.00	\$2,820.00	\$871.00	\$3,484.00	\$725.00	\$2,900.00
632.1010	Type II Object Marker (OM2-2H)	90	EA	\$102.00	\$9,180.00	\$124.00	\$11,160.00	\$105.00	\$9,450.00
632.1020	Type II Object Marker (OM2-2V)	33	EA	\$41.00	\$1,353.00	\$49.80	\$1,643.40	\$50.00	\$1,650.00
632.1032	Type III Object Marker (OM3-1) Post Mounted	8	EA	\$405.00	\$3,240.00	\$498.00	\$3,984.00	\$425.00	\$3,400.00
632.1050	Type V Object Marker (OM-5)	104	EA	\$260.00	\$27,040.00	\$311.00	\$32,344.00	\$500.00	\$52,000.00
	<u> </u>					<u> </u>		Sheet No. 5 of	8 Sheets

PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: TYPE CODE: DATE ADVERTISED: BID OPENED:	Kauai Kawaihau 05-4R April 6, 2023	- Ja		Jas W. Glover		ver Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
632.1051	Type V Object Marker (OM-5) (Parking Lot)	4	EA	\$260.00	\$1,040.00	\$311.00	\$1,244.00	\$500.00	\$2,000.0
634.0100	Portland Cement Concrete Sidewalk/Island	2200	EA	\$126.95	\$279,290.00	\$121.00	\$266,200.00	\$300.00	\$660,000.0
634.0200	Metal Grate	120	EA	\$101.01	\$12,121.20	\$2,160.00	\$259,200.00	\$500.00	\$60,000.0
636.1000	Additional E-Construction Programs, additional licenses	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.0
638.2020	Curb, Type 2D	520	EA	\$207.91	\$108,113.20	\$147.00	\$76,440.00	\$200.00	\$104,000.0
645.1000	Traffic Control	LS	LS	\$1,126,822.00	\$1,126,822.00	\$1,147,300.00	\$1,147,300.00	\$300,000.00	\$300,000.00
645.2000	Additional Police Officers And/or Additional Control Device	1	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.0
648.1000	Field-Posted Drawings	LS	LS	\$2,000.00	\$2,000.00	\$1,380.00	\$1,380.00	\$2,000.00	\$2,000.0
658.1000	EVC System	LS	LS	\$150,000.00	\$150,000.00	\$185,400.00	\$185,400.00	\$150,000.00	\$150,000.0
671.1000	Protection of Threatened and Endangered Species	1	FA	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.0
699.1000	Mobilization (Not to Exceed 6 Percent of the Sum of All Items)	LS	LS	\$300,000.00	\$300,000.00	\$530,000.00	\$530,000.00	\$350,720.82	\$350,720.8

 Sum of State Properties
 * \$6,613,685.90
 \$9,298,169.90
 \$6,576,922.82

^{*} Bidder miscalculated the Sum of State Properties. Sum of State Properties has been corrected.

PROJECT:	Kuhio Highway Resurfacing Waikaea Bridge to Mailihuna Road								
PROJECT NO.:	NH-056-1(063)								
NET LENGTH:				Jas W. Glover		0 0 0 0		STATE OF HAWAII	
ISLAND:				Jas W	. Glover	Grace Pa	cific LLC		TMENT OF
DISTRICT:									ORTATION
TYPE CODE:	05-4R							HIGHWA	YS DIVISION
DATE ADVERTISED:	H. A. D. A.								
BID OPENED:	Way 11, 2023								
COMPLETION TIME:	120 Working Days	APPROX.							
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0102	Clearing and Grubbing (County Parking Lot)	550	SY	\$25.00	\$13,750.00	\$113.00	\$62,150.00	\$50.00	\$27,500.00
	Installation, Maintenance, Monitoring, and Removal of BMP (County Parking Lot)	LS	LS	\$25,000.00	\$25,000.00	\$23,700.00	\$23,700.00	\$30,000.00	\$30,000.00
401.0412	PMA Pavement, Mix No. IV PG64E-22 (County Parking Lot)	320	TN	\$340.00	\$108,800.00	\$718.00	\$229,760.00	\$300.00	\$96,000.00
414.0112	Excavation of Weakened Pavement Areas (County Parking Lot)	9	CY	\$370.00	\$3,330.00	\$319.00	\$2,871.00	\$145.00	\$1,305.00
415.0112	Cold Planing of Existing Pavement (County Parking Lot)	2430	SY	\$8.00	\$19,440.00	\$20.80	\$50,544.00	\$10.00	\$24,300.00
	4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (County Parking Lot)	1150	LF	\$2.50	\$2,875.00	\$6.00	\$6,900.00	\$3.25	\$3,737.50
	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion) (County Parking Lot)	25	LF	\$4.00	\$100.00	\$62.20	\$1,555.00	\$3.25	\$81.25
7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 - 7 -	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion) (County Parking Lot)	25	LF	\$6.00	\$150.00	\$43.50	\$1,087.50	\$7.60	\$190.00
	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion) (County Parking Lot)	10	EA	\$300.00	\$3,000.00	\$684.00	\$6,840.00	\$400.00	\$4,000.00
629.2032	Type D Pavement Marker (County Parking Lot)	2	EA	\$3.00	\$6.00	\$14.90	\$29.80	\$9.00	\$18.00
A BATT COMMAND WY STORY	Regulatory Sign (10 Square Feet or Less) with Post (County Parking Lot)	4	EA	\$750.00	\$3,000.00	\$2,210.00	\$8,840.00	\$600.00	\$2,400.00
631.0302	Miscellaneous Sign with Post (County Parking Lot)	2	EA	\$700.00	\$1,400.00	\$2,020.00	\$4,040.00	\$600.00	\$1,200.00
631.1022	Supplemental Plaque (County Parking Lot)	4	EA	\$300.00	\$1,200.00	\$1,150.00	\$4,600.00	\$275.00	\$1,100.00
			1	I				Shoot No. 7 of	

Sheet No. 7 of 8 Sheets

TYPE CODE: DATE ADVERTISED: BID OPENED: COMPLETION TIME:	May 11, 2023	Jas W. Glover		Grace Pacific LLC		Grace Pacific LLC DE TR/ HIG		DEPART TRANSPO	OF HAWAII MENT OF ORTATION 'S DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Type II Object Marker (OM2-2V) (County Parking Lot)	6	EA	\$50.00	\$300.00	\$49.80	\$298.80		
	Sum of County Property SUMMARY				\$182,351.00		\$403,216.10		\$192,131.75
	Sum of State Properties Sum of County Property			*	\$6,613,685.90 \$182,351.00	_	\$9,298,169.90 \$403,216.10	_	\$6,576,922.82 \$192,131.75
	Total Amount for Comparison of Bids			**	\$6,796,036.90		\$9,701,386.00		\$6,769,054.57
	* Bidder miscalculated the Sum of State Properties. Sum of State ** Bidder miscalculated the Sum of State Properties. Total Amount								
	I certify that this is a true and correct tabulation of bids for this project Fric Fujikawa, Project Manager		May 17, 2023 Date						